One root of the equation 4z* — 423 — 2522 + 552 — 42 =0is 1+ ?i.
Find the other roots of the equation.

Ifz=1+ \71 isaroot ...then, the complex conjugate z* = 1 — \—2—1 is also a root

Factors of the equation are
14+ —i

4z* — 423 — 252% + 55z — 42 = az—a)(z—p) <Zz — 92y +£>
=(z—a)(z—p)(4z* -8z +7)

= (z>+bz—6)(4z2—8z+7)

—4z3 =-8z3+4bz3 b=1
4z* — 473 — 2522+ 552 —42 = (2> +z—6)(4z2 — 8z + 7)

4z* — 473 — 2522 + 55z — 42 =0
472 —8z+7=0
Z:1+l/§i Z:1——\/§i
2’ 2
z2+z—-6=0
(z+3)(z—-2)=0

z=-3,z=2

Other roots \3
z= 1—7i,z= —-3,z=2
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